ELECTRICAL ACCESSORY
BRACKET

TLR811203

SUITED TO:

TOYOTA LANDCRUISER 70 SERIES
FACELIFT RANGE 2024 on



PRE-INSTALLATION

1 Read through this Fitting time {é} Q\,P Spanner
— installation guide @ iS approx. m Socket Set
— before proceeding. 20 minutes. 1) Screwdriver

FITTING KIT
QUANTITY PART
1 TLR811203 - Electrical Accessory Bracket
1 M8 x 20 mm Hex Head Bolt
1 M8 Spring Washer
1 M8 x 20 mm Flat Washer

NOTE:

This TLR Products bracket is designed to suit a facelift Toyota
Landcruiser 70 series and mounts on the longitudinal member
located along side the OEM battery.



FITTING INSTRUCTIONS

1. Decide on which components and orientation you will use and
assemble components onto TLR Products Bracket.
2. Remove the OEM M6 washer bottle mounting bolt shown in

Photo 1.

3. Place the bracket assembly into position and refit the previously

removed OEM M6 bolt.

4. Install the supplied M8 hardware into the mounting hold at the

other end of the bracket shown in Photo 2.

5. Complete all wiring to finish installation and ensure adequate
clearance between all electrical components.

instagram.com/tlrproducts
facebook.com/tirproducts

hello@tlrproducts.com.au
] www.tlrpoducts.com.au

T

ooo
:]EIDEI

TLR Products
65 Northville Drive
Barnsley NSW 2278



	Slide 1
	Slide 2
	Slide 3

